page 1 of 3 TD Inventory List Mon Nov 21 16:27:16 CST 2016

Size Part Rev Dscr Use Code Bal Unit _ Mini Location Low Sir

FC 3310 #10-32 X 1/2" SHCS FT 18-8 SS Btun 90 EACH0 R1,3,3

FC 3313 #10-32 X 3/4" SHCS FT 18-8 SS Btun 22 EACHO R1,3,2

FC 3317 #10-32 X 1+1/4" SHCS 18-8 SS Btun 192 EACHI00 R1,51,L3 *
3443 Union MA03443 (PRN174687) BTUN 0 EACH40 R2,3,1 .
3446 3/8 Flare Coupling Nut Mueller Brass #A 5052 BTUN 0 EACHI00 R1,1,4 .

MD 5803 B Ferrite Tuner Center Section Btun 0 EACHO R1,83,L1

MD 5803 A  Ferrite Tuner Center Section BTUN 0 EACHIO R2,3,4 o

FC 8559 A 3/8"-16 X 3/4" SS HHCS Btun 80 EACH40 R1,83,L1

FC 19142 #10-32 X 1/4" PHMS Phillips 18-8 SS Btun 176 EACHO R1,S3,L4

FC 19147 #10-32 X 5/8" PHMS Phillips 18-8 SS Btun 88 EACH40 R1,3,3

MB 21127 Cooling Loop (Straight) Btun 83 EACHIO R1,82,L2

MB 21128 Cooling Loop (Swaged) Btun 82 EACH10 R1,52,L4

MB 22143 Spacer, Standoff Btun 0 EACH00 1B4 *

F 29331 Tuner Center Section with Coined Lip Btun 0 EACH10 R2,3,4 5

FC 49845 3/8" Male Flare to Solder Fitting Btun 24 EACH0 R1,3,3

FC 50407 #10 Internal Tooth Lockwasher 18-8 SS Btun 164 EACH120 R1,3,3

FC 50457 3/8" Flare X 1/4" Solder Fitting, Mueller Brass #A-3443 (Same a8&#ack #3443) 448 EACH0 R2,3,1

FC 50458 3/8" Flare Coupling Nut Mueller Brass #A-5052 Btun 68 EACH100 R1,3,2 *

FC 50605 3/8" Copper Flare Gasket Btun 50 EACHI00 R2,3,2 *

FC 50856 1/4" X 5/16" Long Shoulder X #10-32 18-8 SS Shoulder Bolt (MC#90337A194)BTUN 29 EACH40 25B3 -

MC 394336 Tuner Buss Bar BTUN 0 EACH0 1B4 *

MC 394595 Inner Buss Bar BTUN 5 EACH50 R3,L2 i

MD 394639 Cavity Tuner Stem (MD-394382) BTUN 0 EACHIO R6,L1 "

MB 394811 G10 Washers (MB-5759) BTUN 129 EACH10 R4,L2

MB 394812 Ferrite Tuner Stem Disk BTUN 0 EACH R3,1

F 394813 A COOLING TUBE BTUN 29 EACHO R5,L4

MB 394814 Ferrite Stem Outer Shell BTUN 0 EACH IB4 MIDFLOOR

MD 394815 Ferrite Stem Assembly BTUN 164 EACHO R3,L4

F 394816 Inner Bus Bar Extrusion (Raw Matl) Btun 2094 LBS O SITE 38

MB 394817 Inner Buss Bar Machined BTUN 0 EACH100 R3,L2 *

F 394821 B  Air Cooled Copper Ring BTUN 10 EACH R5,L4

MD 394823 A FERRITE STEM COINED ASSEMBLY (MB-5826) BTUN 21 EACHO R7,1,4

F 394824 A  Tuner Blank Support Flange BTUN 0 EACHs R2,53,L4 »

2 394825 A Alignment Pin (MB-5484) BTUN 403 EACH40 R1,83,L1

MB 394826 Tuner End Lock Nut (MB-5485) BTUN 0 EACHI0 R7,3,2 *

MB 394827 Insulatina Washer (Old #5672) BTUN 0 EACH10 1B4 &



page 2 of 3 TD Inventory List Mon Nov 21 16:27:16 CST 2016

Size Part Rev Dscr Use Code Bal Unit  Mini Location Low _Sir

MB 394828 Nut (MB-5558) BTUN 0 EACHIO 1B4 *

F 394829 A Bus Bar Clip - Insulated (MB-22321) BTUN 3 EACH 140 R7,53,L2 *

F 394831 A Kapton Washer Btun 15 EACH0 R7,83,L2 *

MC 394832 Outer Bus Bar Standoff Bracket (MC-21719) BTUN 44 EACH 10 1B4

MC 394834 - Tuner SS Spacer (MC-5482) BTUN 12 EACHI0 R4,L2

F 394835 B Tuner Support Flange BTUN 5 EACH5 R2,82,11

F 394836 A Tuner Tension Plate BTUN 2 EACH R4,L1 "

MC 394839 Ferrite Tuner Support Bracket (MC-5568) BTUN 4 EACH10 B4 *

MC 394842 Bus Bar Finger BTUN 0 EACH R1,1,3

F 394845 Jumper/Cooling Loop - Straight BTUN 0 EACH10 1B4 *

MC 394852 SHORT INNER CONNECTING BUS BAR BTUN 14 EACH R1,3,1

F 394853 B Front Connecting Bus Long (MC-5401) BTUN 1 EACHS R7,3,2 E

MC 394854 Bus Bar Finger BTUN 0 EACH R1,1,3 »

MC 394855 Rear Connecting Bus Long (MC-5474) BTUN 1 EACHS5 R7,83,L2 *

F 394856 A Rear Connecting Bus Long Left (MC-5374) BTUN 1 EACH R2,1,2 ”

MC 394857 Bus Bar Standoff (MC-21718) BTUN 28 EACH10 1B4

F 394857 A Bus Bar Standoff BTUN 401 EACH0 R1,3,2

F 394866 Outer Bus Washer BTUN 0 EACH20 1B4 "

MB 394867 Inner Bus Washer (MB-5476) BTUN 60 EACHI00 R7,3,2 *

MC 394868 Outer Bus Washer BTUN 24 EACHB80 R1,1.4 -

MC 394871 Center Stainless Steel Tube - Machined (MC-5481) BTUN 2 EACHIO R7,3,1 =

MB 394872 A .020 SS Shim, Ferrite Tuner Filler Plate BTUN 28 EACHS R2,3,1

F 394872 C Filler Plate - SS BTUN 0 EACH 1B4 =
394928 A ALUMINUM CONE CASTIG WITH INTEGRAL COOLING BTUN 0 EACH10 R12,4 *

F 394930 B Cooling Cone (Machined) Btun 0 EACHIO R1,2,5 .

MB 394931 A  Outer Buss Bar (New Style) BTUN 0 EACHO R2,1,3

F 394931 B Outer Buss Bar (New Style) W/Chamfer BTUN 0 EACH 1B4

MC 394932 Front Connecting Bar BTUN 8 EACH40 R2,1,2 ¥

MC 394933 Rear Connecting Bar BTUN 8 EACHI0 R2,1,2 .

F 394940 A EXTRUDED OUTER BUS BTUN 1 EACHO R3,L2

F 394940 B Outer Bus BTUN 0 EACHI0 R12,L4 *

MB 496026 Stem Disk BTUN (] EACHO 1B4

MB 496027 Ferrite Stem Outer Shell BTUN 0 EACH 1B4

F 496030 Inner Package Assembly BTUN 1 EACHO R7,2,2

MD 496031 New Style Cone Assembly (MD-62633) BTUN 0 EACHI0 1B4 2

F 496032 Hiah Mu Ferrite BTUN 0 EACHO 1B4



page 3 of 3 TD Inventory List Mon Nov 21 16:27:17 CST 2016

Size Part Rev Dscr Use Code Bal Unit_ Mini Location Low Sir
MB 496033 Low Mu Ferrite BTUN 0 EACH 1B4

F 9009951 #10 Belleville Washer Btun 672 EACHB00 R1,83,L4 *
F 9010105 Jumper/Cooling Loop - Swaged BTUN 0 EACHIO 1B4 .
E 10001516 3/8" OD X 4" Long Copper Tube Btun 0 EACHS50 1B4 *
F 10027234 Tuner Shell Unit Btun 0 EACHI00 R6,L1 *
F 10029311 Tuner Center Section without Coined Lip BTUN 0 EACHO R6,L2

F 10029331 Tuner Center Section (Swaged) BTUN 0 EACH R6,L2 >
E 10037222 Kapton Finger Ins. .005" X 3/4" X 4" Btun 190 EACH 100 R2,2,5

F 10037288 Kapton Bar Ins. .005" X 4" X 4" Btun 492 EACHI00 R2,S2,L5

F 10037495A Tuner Hoist Point "A" Btun 18 EACH10 R7,1,1

F 10038588  Tuner Hoist Point "B" Btun 15 EACHI0 R7,1,1

F 10039482&  Blank Support Flange BTUN 6 EACHO R2,52,L1



